C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

GENERAL NOTES:

1.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL

EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH THE
EVALUATION REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL.
THIS SYSTEM HAS BEEN TESTED AND EVALUATED AS A LEVEL D LARGE
MISSILE IMPACT PROTECTIVE SYSTEM IN ACCORDANCE WITH THE

FLORIDA BUILDING CODE SEVENTH EDITION (2020), FOR USE INSIDE THE

HIGH VELOCITY HURRICANE ZONE, AND THE INTERNATIONAL BUILDING
CODE (IBC) AND INTERNATIONAL RESIDENTIAL CODE (IRC). SEE
EVALUATION FOR MORE INFORMATION.

POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH

THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN
ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS
SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN
PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS
SHOWN.

TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND
ASTM E1886/E1996/E330. SEE EVALUATION REPORT FOR MORE
INFORMATION.

DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED
PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR.

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF
THESE PRODUCTS. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED
FOR WOOD ANCHOR DESIGN.

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN
REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE
GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD
CALCULATIONS IN ACCORDANCE WITH ASCE 7, A DIRECTIONALITY
FACTOR OF Kd =0.85 SHALL BE USED.

THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SPECIFIC SITE.

PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING
STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS.

ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM,
BRICK, AND OTHER WALL FINISHES.

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER
61G15-23 OF THE FLORIDA ADMINISTRATIVE CODE.

THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE
CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM
THE CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES
THAT THE EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM OR
MATERIAL FROM THE STRUCTURAL SUBSTRATES DETAILED HEREIN.
ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS
WILL VOID THE APPROVAL DOCUMENTS.

EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE
FOLLOWING MINIMUM INFORMATION:

TOWN & COUNTRY INDUSTRIES
FORT LAUDERDALE, FL
9 LB MISSILE LEVEL D - ASTM E1886, E1996 & E330
TAS 201, 202 & 203
FLORIDA PRODUCT APPROVAL NUMBER

ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N.,
WITH A MINIMUM Fy OF 25 K.S.I.

ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE
STAINLESS STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.I.,
U.O.N. POP RIVETS SHALL BE 1/4"@ OR 3/16"@ 5052 ALUM. ALLOY.
MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION
PROVIDING WIND LOAD & IMPACT RESISTANCE = +69.3/-79.5 PSF FOR
ALL NON-SLIDING PANEL WITH TRACK CONFIGURATIONS. MAXIMUM
ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION FOR ALL SLIDING
PANEL TRACK CONFIGURATIONS = +57.2/-66.2 PSF.

MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28
PSF

SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE
LEFT IN THE OPEN POSITION IN THE EVENT OF A WIND STORM EVENT.
ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED.

%
;f‘\OOO # 3.000 *

|
<
<
@ pas 190" O O

o 8.000"
L1 ‘

| Jo_tBest ANGLE
1796" 1) ECALE HALF SI7E

COLONIAL SHUTTER (HVHZ)

PATENT #8126298

| &y, BE
= :

%‘981 NA \,?"\*

1, 210]
Zothitt

Digitally signed by
Frank Bennardo
Date: 2020.08.12
21:28:01 -04'00'

R0.050"

o' BAHAMA BLADE
14a

SCALE: HALF SIZE -0.260"
R0.081" 0.050" o2t
/;Cf/‘ - -\\\
KQ\QC, ,_J_/::%ROJOO"
R0.050"
+ 3.663"-
. -4.000"- I
MUNTIN JAMB JAMB SNAP "
SCALE: HALF SIZE SCALE: HALF SIZE SCALE  HALF SIZE 14 QCEAHANHA?LAEFZE
— 145’
195"
, e gy
055" p 3875 n 090 /L 1125
TYP ) Se—t! . !
T [ - il ‘v s~ ||2] & 45" {
R13.796" ¥ : ~ . | ] i S R 165" —Af £
: R13.851" 1125" : 5 inm N B 75
J 2 M55 S i
R R.081 g R 245 § 5 2 R 245"
o~ o~ o~ -
\ —R2507 \h?\)\ " p 1,410 7,:? S \\%+®
N 4.120" A L £.120" AL
'T‘WZOO” 1 I 4.510" i T 1.550" f 4.510" il
/ 3 y : y
OL: COLONIAL BLADE _ o) WALLHINGE VHEADER/SILL (s BULD-OUT WALL HINGE
SCAL F SIZE SCALE: HALF SIZE SCAL HALF SIZE )SFA F SIZE
NN ~ e TN
16067 1.000" 3000 | 3.000" 1.000" .
NN s . 2 / e 7 s # s §
20L5 Ao 2|8 :
. | s o ~p S 190" O O O o
h @ @ TYP : o
Ta) m % L : g *
: o~ o ~ _ ~ o -
L <
‘ =
A0 A4 ~ w g |, 1608" ~ )2 8.000" ik
HURRICANE PROTECTION R245 - -
g 7 “~ e * N )K"Z" BAR - PROFILE & LAYOUT
5 FLAT HINGE ) 10)Seare HALF sizE
SCALE HALF SIZE
i % 1.0" TO 375" b2a
080 T 20" T J_MIN. ®.270
. NN i Faaa)
P i B . . @
LOCKING 5 ©) @ 112" = ¢ o ™~
LARED END o S b o ) 3 ‘ - =\
3.000" 1000 . N , : L .
+ 1 @ 2“’ y M ST i ancHoR) ¥ ~ 'L 2
" Y 080" SECTION A
O :m% & 2.500" J, N
s o e VISIT ECALC.10/26193
~ X 75 . FOR SITE SPECIFIC DEVIATIONS
— P2 57( & MORE INFORMATION ABOUT THIS DOCUMENT
L-PIN - 114., & * f OR SCAN THIS QR CODE
12) SCALE RALESTE (2-ANGHOR) VISIT ENGINEERINGEXPRESS.COM/STORE
) S o "G CLIPS FOR ADDITIONAL PLANS, REPORTS & RESOURCES
13 2 - :
SCALE : HALF SIZi

FRANK BENNARDO, PE
PE# 0046549 CA#9885

N

O!H??

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

N
<))
L]
o~
0]
L |
—
[T
E Ny
S
) = 2 &
©8 5
cLinod
D—o<m
P52 Om
:D_gz o m
08§ m
=: 27
QEE‘JS ZLII
o O 3
& =<
[a]
‘ E |_m
Q-5 8%
= =0
='c :2
2 383
s Y -
© s
% 3
@
EQ e
=
;

CCB_[RWN | 7/01/20

112/20/12
| 4/16/15
| 9/28/16

8/07/17

FiB
TSB

[

KL

_|DRWN|CHKD =~ DATE
RWN

RWN |FLB
THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E, ™* ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

REMARKS

INIT ISSUE

2014 FBC
017 FBC

2
g

<

NN

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE: | -

PAGE DESCRIPTION:



http://ecalc.io/26193

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

FRANK BENNARDO, PE \
| | PE# 0046549 CA#9885
SEE Z-BAR ANCHOR SCHEDULE FOR SEE Z-BAR ANCHOR SCHEDULE FOR ‘ (3) ANCHORS REQUIRED, SEE 7-BAR
CONNECTION TO EXIST. STRUCTURE, TYP WOOR CONNECTION TO EXIST STRUCTURE, TYP P EMBED xjr ANCHOR SCHEDULE FOR CONNECTION TO
» . mg‘p“
DETAILF} /Q cp [/ FORALLZBARS DETAILF} /O DETAILE\i 2 ‘» FOR ALL Z-BARS W EXISTING STRUCTURE 0811212688 5o ©
{* = om { 3 = e AN|AATEG 2n
\ =1 | | ‘ \ ‘“ § = | | | a VI -3
| | ! ! | | i w m 8%
| { T (6] - # .. as
- , - L | -- OO e
& 1/6-20 .S MACHINE SCREW INTO = % 17620 S.S. MACHINE SCREW INTO 4 . | AN SN it ! ‘L S STEEL ‘E’D Lgwy
% - 1/4-20 ALUMINUM RIV-NUT AT EACH —{— < @@/ - ~1/4-20 ALUMINUM RIV-NUT AT EACH - = = SCREW XYLON COATING DR EQLIV L (A
> VERTICAL 2 - - VERTICAL i \\_j o T gug
: o Gn - ﬁ i w082
< . ] ] ZZ
- “l(6oRrR Y | | ! MUNTINCTJREPLACES ANY (2] 2 < Wek?
* + o j\;\i ] L L COLONIAT BLADES(5)) cB8z5
i Bl S i 3t ‘E* j floge |- 4 73" MIN rNQRGuW
[ g | sL ‘ 7 ghghas
Z S e e e - —%- Z e e = == —_— SEPARATION O _W3zes
< 3 a 2 FROM GLASS SL 39
h | 05 %) 05 It ) 0 % i
o ey = = Lo oW
| g o < s oo ‘<‘L‘ f 5 5\ =0
- Zxo 5 L \ YSP 4 \ -
T - Oy T O
m L O = L wO BEAM
L IHJ o>u IHJ o>
I Vv .07 i iEE AE: D N
= o | z o7 [e)]
_ Ly _ 1 <y INSTALLATION OF BLADES MAY -
il I e x g il It o 4 BE REVERSED o
Rl — | | i EmZ B i e g4 i 3
~ == — : 2w ~ L = Z <0 [ (6) 1/4-20 ALUMINUM -
T NO @ ( 4 ,\* = Y o s
10)0R ) 11 U -NU 2L E
cp Typ © 0 o o 3 &
34.00" MAX 34007 MAX 34.00" MAX 34.00" MAX 34007 MAX ~ woon@ =m—§§ ad
p s ¥ ) e - . * nls L@
)’ SHUTTER WIDTH = 68.00" MAX ) SHUTTER WIDTH = 102.00" MAX ' ::_8% & ;M
BEAM SPAN i BEAM SPAN i Plxt STAIRESS 5L SHS Q =2 2«c
£ ~ v )’ < FLAT HEAD OR ROUND HEAD Z@ 2 2 uf
©
A TYPICAL ELEVATION 2 PANEL B TYPICAL ELEVA FION 3 PANEL c 5%
P PR = D
SCALE 1727 O SEE Z-BAR ANCHOR SCHEDULE FOR SCALE 1727 0” N\ ~{E b
CONNECTION TO EXIST STRULTURE, TYP TYPICAL PANEL SECTION (A (2 wu
OR(1 ' (C Ak £ =29
DETAILF; DETAIL[_} / Q Q /G) FOR ALL 7-BARS BEAM SCHEDULE SCALE: 37 = 1-0" ﬁ =z 9 g
N = frortandd P & T =
J L\> T = WALL BRACKET ANCHOR TYPES (+69.3/-79.5 PSF MAX) o ¥ £
/el - fl“r ‘ 1| (2) ANCHORS ALUMINGM | BEAM SPAN 5 T =
v |3 REQ'D AT EACH BEAM SIZE L HUTTER Q @
v +/- 79.5 PSF = s
-t L] WALL-HINGE ALLOY span  |(+/ ngs S CONCRETE HOLLOW BLOCK | WOOD (G=0.42 £
inn SEE WALL-HINGE ) MIN) =
L 1| | ANCHOR ] } | | | | |
VERTICAL ’ ; SENEL TiERY TG 2"x3"x1/8" 6063-T6 6'-8" 6' 1" ABCDE AB.CE B.C
: AL 510" 66" AB,C,D,E ABCE B.C
1] ] AN 8'-1.75" 6 9" AB.CD,E AC, B,C wSele ‘v:‘g 8,
| | | I EF S
| L AL 2"x4"x1/8" 6063-T6 6'-8" 7'5" ABCDE AC, B,C 82855 i3
5 l ~ SNEESE
et 1T ! _ 5'-10" 8' 0" AB,CDE AC, B,C o . | o gt
gz, iyt Ty i oy e = - - — - — 4 wihes
T Tl TT] N 2 8'-1.75" 8' 0" AB,CDE AC, LI ;§§-§
1| 29 2"x5"x1/8" 6063-T6 6-8" 8' 10" ABCD,E AC, B.C 2 |z|zlz|a gt
| o @ dezz
[ _qAn r e A
i w i 5-10 95 ABCD,E AC, B.C SEEEHE 3552
1 Z o m 8'-1.75" 10'5" AB,CD.E 5552
|| = T g
1 s 2"x4"x1/4" 6061-T6 6'-8" 11' 6" AB,CD,E AC, y gggg
| HJ o> A" 1gn guE2
1 HLl 02w 5'-10 12' 4 AB,CD,E AC, 2 g%gg
I 1 V w3z = B
4| Z gy « TYPE A: %-20 ALL POINT SOLID SET ANCHORS: el | ERus
s . L oy T - IN CONCRETE (3.35KSI MIN) WITH 7" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING 28338 ggéé
Lol E0e| 0. w5 - IN HOLLOW CONCRETE BLOCK WITH 7" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING % 2= 2 = § gggg
T : e LM « TYPE B: }" EYEWALL ARMOR MALE/FEMALE BOLT OR %-20 DEWALT PANELMATES (MALE/FEMALE): v Z3 ¥ &g  EE°
- | T\ LY - IN CONCRETE (3.35KSI MIN) WITH 13;" MIN EMBED., 2%" MIN EDGE DIST. AND 3" MIN SAPCING COPYRIGHT FRANK L. BENNARDO P.E.
@ s - IN HOLLOW CONCRETE BLOCK WITH 1%4" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING
- IN WOOD (G=0.42 MIN) WITH 114" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING 20-26193
34007 MAX 34007 MAX 34007 MAX 3400 MAX *TYPE C: %" ITW TAPCON SG: SCALE: . ] -
s 7« s — 7 - IN CONCRETE (3.35KSI MIN) WITH 1%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING : -
i SHUTTER WIDTH = 136 00" MAX - IN HOLLOW CONCRETE BLOCK WITH 1¥%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING PAGE DESCRIPTION:
— - IN WOOD (G=0.42 MIN) WITH 1%" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING -
p = z « TYPE D: %" MILLENIUM MILLFAST (W/ T&C ULTRACOTE): . ‘
- IN CONCRETE (3.275KSI MIN) WITH 13" EMBED, 2" EDGE DIST., AND 4" MIN SPACING OF
(D TYPICAL ELEVATION 4 PANELS MAX. - IN HOLLOW CONCRETE BLOCK WITH 1%" EMBED., 21" MIN EDGE DIST. AND 4" MIN SPACING ‘ 7
SCALE 172" = T7-0" « TYPEE: #12 SMS W/ 2" EYEWALL ARMOR NYLON INSERT:
- IN CONCRETE (2KSI MIN) WITH 2" EMBED, 2" EDGE DIST. AND 3" MIN SPACING
- IN HOLLOW CONCRETE BLOCK WITH 1%4" EMBED, 2" EDGE DIST. AND 3" MIN SPACING J



http://ecalc.io/26193

C:\UsersVrickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

USE 2X4X1/4 ANGLE FOR 37 & 47 BEAVS,
1716”9 x 3-1/2" LONG USE 2X5X1/4 ANGLE FOR 5" BEAMS
STAINLESS STEEL BOLT WITH , TYP. TOP AND BOTTOM OF BEAM

176-20 S.S. MACHINE SCREW INTO 1/£4-20

NYLON LOCK NUT 50% OF BEAM » 500" iy S
CL BOLT R—
WIDTH MIN B e
@\r 750"
® 75" ‘
®
O
@) O ! e O - o S L S R
(3) 3/16"® STAINLESS STEEL | ©
POP RIVETS, TYP. EACH SIDE %ﬁj 63"
BEHEGE @~ 2 T OO Ve b B e e e
E TYPICAL PANEL HINGE ) SN
SCALE 3" = 7-0" %‘\ ®
{

ALUMINUM RIV-NUT AT EACH VERTICAL JAMB

\2x4><1/4 ANGLE OR 2X5X1/4 ANGLE.
6063-T6 ALUMINUM ANGLE, TYP. TOP

AND BOTTOM OF BEAM

176-20 S.S. MACHINE SCREW INTO 1/£4-20
ALUMINUM RIV-NUT AT EACH VERTICAL

FRANK BENNARDO, PE
PE# 0046549 CA#9885

(ATE
0812/ 7&?‘5‘5-&,0NM

T

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

N
a
o
9
i\ J
[T
Nwg
‘l-afgé
ES: nQ
:*“n_:g <
52 Om
=D_gs o m
Q8§ m
- Z  ~
e 94
@ E‘D‘:
/ £
Q//gg i
=
Z 85
s Y .
s s
E: 3
@
&S 2
K o
& =

7/16"% x 3-1/2" LONG 6o ‘ 2 _
STAINLESS STEEL BOLT WITH &Al VOE[BKDNLUTT BEAM SPAN ‘ > i P -BEAM SPAN- -
NYLON LOCK NUT " 0 L - — — 1.125" MIN
> 5 (2} ANCHORS REQUIRED FACH ) 7/1 165 MACHINE 30LT wiTH P— MIN T e T _
/@ ANGLE, SEE BEAM SCHEDULE LoCk T , EDGE DISTANCE 4 MmN ~C EDGE DISTANLE
50" NTT) || Nt EANG ANCHOR SPECIFICATIONS i 300" £ S SFF BEAM SCHEDULE (W0OD) SEE BEAM SCHEDUL
f " ANCHOR SPECIFICATIONS (FRONT VIEW) ANCHOR SPECIFICATIONS
- 100 C
@ O “ i (SIDE VIEW) N (FRONT VIEW)
OR L . o (CONCRETE & HOLLOW
% \ = 2‘ TYPICAL WALL BRACKET CONNECTION DETAIL CONCRETE BLOCK) Z-BAR ANCHOR SCHEDULE
;; | @ | S B MANUF ‘UMME'*R‘ DESCRIPTION | eheE | i
- T T 3 | . METE | J ot y A
50 goe |oiSFaNice| FMBED. | SPACING
B) 3/716°0 STANLESS STEC CONCRETE (MIN. f'c = 3350 PSI)
F ) LYPICAL ZVA'—'—J"”:@E DEWALT | 1/4 IN. |STAINLESS STEEL PANELMATE | 2.50 IN [ 2.00 IN | 3.00 IN
- T DEWALT | 1/4 IN. |MALE PANELMATE (or P.PRO) | 2.50 IN | 2.00 IN | 3.00 IN
DEWALT | 1/4 IN. [FEMALE PANELMATE 250 IN [ 1.75 IN | 3.00 IN
EYEWALL ARMOR | 1 /4 IN. | MALE/FEMALE BOLT 2.50 IN | 1.75 IN | 3.00 IN
‘ - - 625t EYCHALL ARUOR | 1/4 IN. | MALE/FENALE BO | 250 IN | 175 N | 30
s s s s s W [ 1/4 IN. [TAPCON SG | 2.50 IN [ 1.75 IN | 3.00 IN
@AQ/Q ,_,QfO OL “[Q O\Q\A@ ALL-POINTS| 1/4 IN. |SOLID-SET ANCHOR | 2.00 IN [0.875 IN| 3.00 IN
gmw vr@@ra'g};‘@’ = 25fes P oty s o o sty H®) MILLENIUM | 1/4 IN. |MILLFAST | 2.50 IN | 1.75 IN | 3.00 IN
‘ | 1 H | HOLLOW CONGCRETE BLOCK ) _
O\ SO e r»/“% Vo JEWALT | 1/4 IN. [STAINLESS STEEL PANELMATE | 2.00 IN | 1.25 IN | 3.00 IN
3 @ @ |- DEWALT | 1/4 IN. |MALE PANELMATE (or P.PRO) | 2.00 IN | 1.25 IN | 3.00 IN
LOUVERED S0 DEWALT | 1/4 IN. [FEMALE PANELMATE | 2.00 IN [ 1.25 IN | 3.00 IN
(INSIDE) EYEWALL ARMOR | 1/4 IN. | MALE/FEMALE BOLT | 250 IN | 1.25 IN | 3.00 IN
W | 1/4 IN. [TAPCON SG | 250 IN | 1.25 IN | 3.00 IN
ALL-POINTS | 1/4 IN. |SOLID-SET ANCHOR | 2.50 IN |0.875 IN| 3.00 IN
MILLENIUM | 1/4 IN. |MILLFAST 250 IN | 1.25 N | 3.00 IN
WOOD (SOUTHERN YELLOW PINE, G=0.54) , ' j
JFDGE DIST ) K TYPICAL PLAN VIEW (LOUVERED SIDE IN) , P DEWALT | 1/4 IN. |STAINLESS STEEL PANELMATE | 0.75 IN [1.875 IN | 3.00 IN
SCALE 3" = 1-07 2 —— - s
(2) ANCHORS REQ'D AT EACH WALL -HINGE DEWALT | 1/4 IN. |MALE PANELMATE (or P.PRO) | 0.75 IN 575N | .70 I
SEE WALL-HINGE ANCHOR SCHEDULE FOR DEWALT | 1/4 IN. |FEMALE PANELMATI [0.75 IN |1.875 IN | 3.00 IN
CONNECTION TO EXIST, STRUCTURE EYEWALL ARMOR | 1 /4 IN. | MALE/FEMALE BOLT 0.75 IN | 1.50 IN | 3.00 IN
W | 1/4 IN. [TAPCON SG 1 0.5 IN | 1.50 IN | 3.00 IN
LOUVERED SIDE 1/4 IN. |S.S. HANGER BOLT 10.75 IN [1.25 IN |1.50 IN
) @} 625" o f WOOD (SPRUCE-PINE-FIR (SPF), G=0.42)
3 - -
@ng @f@j O@ / % 1/4 IN. |S.S. HANGER BOLT 1075 IN [1.25 N |1.50 N
et ST | == T R Wﬁ'{@ {e)or(8)
{ i1 i
e )3 5P AN oL L ot
ol A Rl il K @7.@4& 5 ()_%\,\ 1
(:F 3 |
. % |
@ ©- ° L 'WALL-HINGE ANCHOR SCHEDULE
SUUD SIDE |
(INSIDE) ‘ I o o
MANUF. |DIAMETE DESCRIPTION SR
: _ |oiSPanicE | EMBED. | SPACING
CONCRETE (MIN. f'c = 3192 PSI)
W [1/4 IN. [SS TAPCON | 250 N[ 100 N | 200 N
W [5/16 IN.[TAPCON XL 1875 IN 1.75 IN [ 2.00 IN
(1) TYPIGAL PLAN VIEW (LOUVERED SIDE OLT) FOLLOW GONGRETE BLOGK :
SCALE 37 =1-0" o : ;
JEDGE DIST EDGE DIST DEWALT | 1/4 IN. [ULTRACON [2.50 IN [ 1.25 N | 2.00 N
- = W [5/16 IN.|TAPCON XL [2.1875 IN| 1.75 IN | 2.00 N
(2) ANCHORS REQ'D AT EACH WALL-HINGE. WOOD (G=042 NIN) : : :
SEE WALL-HINGE ANCHOR SCHEDULE FOR #14 |SMS OR WOOD SCREW | 0.75 IN [ 1.50 IN [ 1.50 IN
CONNECTION TO EXIST. STRUCTURE { i | o e
1/4 IN. |LAG SCREW | 075 N[ 1.25 IN[1.50 IN

wdwlo~o
=IESES SRR
NSRS
CIEIIEIRIS
2 z
o
:ﬂ‘wﬂ =
O|L|F|L|T |
§ z|z
m
za22S Q
SRR

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ™* ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

w

3
(%] =3
X
xﬁgés@
3
HEEEEE
COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE: - | -

PAGE DESCRIPTION:



http://ecalc.io/26193

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

. PLAN VIEW 1
R SCALE: 1-1/2"

PLAN VIEW 2

S SCALE 1-1/2"

ﬂ’,,o”r

17-0"

CLOSED POSITION

SHEET 7 FOR ALL PLAN VIEW
INSTALLATION POSITIONS

[2) #14x1" STAINLESS
STEEL SMS T

dJ
ATE 0.090"x1"x3-1/2" WITH (2]

1/4"® RIV-NUTS (TOP & BOTTOM
D\ PA[\ ‘ S) (1} 5/16"¢ ITW TAPCON XI
OR (2)1/47® ITW SS TAPCON

] OR {2} 1/4"® SHEET METAL SCREW

— e ||
”””””” %@ = Wy % R e OR(2) 1749 LAG SCREW

| lon=glbal T | o< SEE ANCHOR SCHED. FOR MIN
§ L&E‘ oo | S EMBED. & FDGF DIST

[2) #14x1" STAINLESS
STEEL SMS

(1157169 ITW TAPCON XL

OR (2] 1/4"® ITW TAPCON

OR (2} 1/4"® SHEET METAL SCREW
OR (2} 1/4"® LAG SCREW

SEE ANCHOR SCHED. FOR MIN
EMBED. & EDGE DIST

OPEN POSITION LOCK
ANCHOR SCHEDULE:

WITH "C" CLIPS OR DOUBLE "C" CLIPS:

TO 2899 PSI MIN. CONCRETE:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 2" MIN. EDGE DISTANCE.

(DOUBLE "C"

TO 3192 PSI MIN. CONCRETE:
e (2) 1/4" ITW SS TAPCON W/ 1-3/4" MIN. ,
EMBEDMENT AND 1" MIN. EDGE DISTANCE. NOTE

CLIPS REQ'D TOP & BOTTOM
TO HOLLOW CONCRETE BLOCK: SPANS < 69°
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN. -
EMBEDMENT AND 4" MIN. EDGE DISTANCE.

TO G=0.42 MIN. WOOD HOST STRUCTURE:

e (2) 1/4" WOOD SCREWS OR SHEET METAL SCREWS
W/ 1-3/4" MIN. THREAD PENETRATION AND 3/4" MIN. CT
EDGE DISTANCE.

e (2) 1/4" LAG SCREWS W/ 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE.

(2} #14x1" STAINLESS
STEEL SMS

{15/16"® ITw TAPCON XL
OR (2) 17670 ITW SS TAPCON
OR (2)1/4"® SHEET METAL SCREW
OR (2) 174”9 LAG SCREW
SEE ANCHOR SCHED. FOR MIN
EMBED. & EDGE DIST uﬁ

{HINGES NOT SHOWN FOR CLARITY)

CLIP) (SINGLE "C" CLIP)

FOR SPANS > 69" ONE CLIP REQ'D AT MID-SPAN {+3") FOR

OPEN POSITION LOCK
SCAL = T=0"

FRANK BENNARDO, PE
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442

(954) 354-0660 | (866) 396-9999

TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

ry

e
Wholesale Aluminum and Building Products

0

ount

Town "

FL16219.2

A Division of ABC Supply Co., Inc.

400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

1212012
| 4116015

FLB
TSB

DRWN|CHKD | DATE
|KL
RWN |

REMARKS
INIT ISSUE

2014 FBC

| 7/01/20

| 9128/16
8/07/17

'CCB_ |RWN

RWN_|FLB
RWN |FLB

NN

EV - ADD 4" BLADE

017 FBC
020 FBC

o

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE:

PAGE DESCRIPTION:

4

loF

7

J



http://ecalc.io/26193

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

FRANK BENNARDO, PE
PE# 0046549 CA#9885
"-,’ 5{“‘5‘;:
O . 0801 2:20%@}9,'3,2:” &
100R(1D) @
630"
630" 1 YP \ S TYP DETA”# vip p ©
~vp , DETAILK DETAILM " vijp ‘ S O0RKY CEN
*, ~/ORK1 “XAloRM1 Yl S T -3 .
‘./A.L‘ Y -71‘— \ Rl wo oz
R e 1.1 - = LE™ao8
\ / —_ 1 o5 %ug
+ e SR by
& P2 Z = 7 T c»n KED
i P2 z & @@\ I . A—" ——  S— 5 I B — w o TEug
@3 \ i B A . — v i ' ! 4 ! - Ll wl U6
| i T @j DETAIL L 5 - £ S-S
DETAIL L Ny (6)0R~ | OR 4a ,é I v=vs g 1 oc M8z
(6)oR OR 4a %,\ 08 ) - (3) Al | A < < CSNFET
(8) —(1F < [ e al o oNI®Zzu
] N ILJ— I ! o G 9 o m ?EE
Y : ) = Z Z 2 Hues0o
- ped ) ] L $<Z
= - - — ne wh
— @] - _J w [
3 ] %] ow
v X X O N
® N < < -
N < | > >
v | = v : ~ -
~ o o
o N
)]
T P - g
sy ate vZp ©
Y i ]| J ©
\Y‘ | o 630" \ 5 [ = N : T
630" " R — — / s
TYP '—XXL@ 7 - I 37" SLIDING 37" SLIDING 37" SLIDING 37" suo@@ e
37" SLIDING 37" SLIDING 34.00" MAX PANEL, MAX |  PANEL, MAX PANEL, MAX PANEL, MAX ed — 2 8
34.00" MAX 34 00" MAX PANEL, MAX PANEL, MAX / / d =593 28
7 a s
~g 28
Q8§ m
y ELEVATION: 1 HINGED AND 2 SLIDING PANELS ELEVATION: 2 SLIDING PANELS Q zS:E < b
ELEVATION: 2 HINGED AND 2 SLIDING PANELS SCALE N.T S SCALE NTS @2 2
SCALE: N.T S S =z
! =9
=5 23
vi[p vi[pp o Y
\ i © s
R
SLIDING PANEL TRACKS EXTEND Q S
— BEYOND FOR SHUTTER STORAGE — =
IN NON-STRUCTURAL OPEN |
- POSITION, TYPICAL. | -
7 (SIM RO 7 L no 7 L
(S} P2 — o P2 7 =
I - A | W | E A i | W I W L
T I
-DETAIL L - . ~DETAIL L, i -
~OR4a - é‘ = ) B L1, OR 4a = ) (E) i " Jelesgl |E g
2 % < I8285s i
mop e & , N 8835 3R 3L
S up 2 p g z |35
—1 [ = MAXIMUM ALLOWABLE DESIGN — = z ﬁ @ 222 :'»%gg
% PRESSURE FOR SLIDING TRACK 5 = ggE9
% OPTION: v £ zizzja fzgz
X +57.2 / -66.2 PSF % &2 zlzz8 gégi
34
5 & tg83
= = s B
3 Egge
vep a | |2 -
Y2 Xlwl & EQu3
4= g3a
SEE2EE g
5 3 . BEZEEY #°F
7 — 7 [ —
37" SLIDING gH SL\\E&% 37" SLIDING 37" SLIDING 37" SLEJ_&% 37" SLIDING 37" SLIDING COPYRIGHT FRANK L. BENNARDO PE.
PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX 20_26193
SCALE: - | -
PAGE DESCRIPTION:
ELEVATION: 4 SLIDING PANELS @ ELEVATION: 3 SLIDING PANELS :
SCALE:NTS N ) SCALE: NT S o
NOTE: SLIDING PANEL
CONSTRUCTION SAME AS o
HINGED PANELS 5



http://ecalc.io/26193

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

MAXIMUM ALLOWABLE DESIGN
PRESSURE FOR SLIDING TRACK

OPTION:

+57.2 / -66.2 PSF

SIS
/" ANCHORS PER
; “LEG OUT" __——ALTERNATE LEG
7 SLIDING PANEL l DIRECTION
?TRA[K ANCHOR |
SCHEDUL
< ./ i
l\lnl AR AR AR AT AN Y F J
WA mr/// = e
) 1747220 MACHINE SCREW W/
‘ NUTAT 12° 0.C., TYP
//xbx(ﬂ/; | . an 3
ALUMINMUM ——— '
% NGLE /X“ (‘ylf/m PEv m r/\u T‘L_‘*F J/m,
\ h “ n |
[aaa) \'
AR YRR /4 _] | - T r
SENSNRASY .pmp“m. 5t =5 W \Vf
o
o ct—Ho . ~ T WHEEL CARRIAGH
/\\JLHURS P\ R L ST M s ASSEMBLY AT 3"
"LEG IN" =l 12 FROM EACH END AND
/ SLIDING PANEL 10.25 " 0.C, TYP
TRACK ANCHOR
% SCHEDULE kwfzo RIVNUT
AT EACH WHEE|
/ CARRIAGE
] = | I =
=3 F
p)
I
5Y1e C\ —~ : %)
TYP z\ f v
|
|

Y1

SLIDING PANEL TOP TRACK

SCALE: N.T.S

ANCHORS P-;?/

"LEG IN7
SLIDING PANEL
TRACK ANCHO

/ SCHEDULE
PPrP!
17144

SUdga

20

\\\\\\

ANCHORS PER
LEG OUT~
SLIDING PANEL
TRACK ANCHOR

S& EDUL

NN N NN NN

\

_

’lll u‘a’ a4

duiageiy

JA b

_

"LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HosT NCHOR — SLIDING PANEL VERTICALSPAN ]
STRUCTURE G 48" 60" 72" 84" o7
114" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2 MIN. EDGE | 16" O.C. | 16" 0.C. 16"O.C. | 16" O.C. | 16"0.C. | 16" O.C.
CONCRETE DISTANCE | | i |
(3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16" O.C. | 16" O.C. | 16"0.C. | 16"0.C. | 16"O.C. | 16" O.C.
EDGE DISTANCE
CONCRETE | 174 MILLENIUM MILLFAST W/ 1-3/4" |
MIN. EMBEDMENT AND 2-1/2° MIN. | 16" O.C. | 16" O.C. | 16"O.C. | 16"O.C. | 16"0.C. | 16" O.C.
(3500 PSI MIN.)
EDGE DISTANCE | |
T T
1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 13"0.Cc.  11"0.C. | o"0Cc. | 8'0C | 7"0cC.
EDGE DISTANCE ‘ ‘
114" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE ~ 15"0.C. | 12"0.C. | 9°0.C. | 8"0C. | 7"0C. | 6"0C.
DISTANCE
HOLLOW | 1/4" DEWALT ULTRACON W/ 1-1/4" |
MIN. EMBEDMENT AND 2-1/2" MIN. | 16" O.C. | 13" O.C. | 10"0.C. | 8"0.C. | 7°0C. | 6"0O.C.
CONCRETE
BLOCK EDGE DISTANCE ‘
5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE | 16" O.C. | 16"0.C. | 15"0.C. | 13"0C. | 11"0.C. | 9"0C.
DISTANCE.
5/16" DEWALT ULTRACON W/ 1-1/4" | il
MIN. EMBEDMENT AND 3-1/8" MIN. | 16"O.C. | 16" O.C. | 16"0.C. | 14"0C. | 12" 0.C. | 10" O.C.
EDGE DISTANCE
114" LAG SCREW W/ 1-1/2" MIN,
EMBEDMENT AND 3/4' MIN. EDGE | 16" O.C. | 16"0.C. | 16"O.C. | 16"O.C. | 16"0.C. | 16" O.C.
WOOD (G=0.42 DISTANCE ‘
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN. | 16" O.C. | 16" O.C. | 16"0.C. | 16"0.C. | 15"O.C. | 13" O.C.
EDGE DISTANCE. ‘ |

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND
SLIDING PANEL VERTICAL SPANS FOR "LEG IN" CONDITION. ANCHORS SHALL BE LOCATED 2" MAX
FROM TRACK ENDS.
*MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

;,;,;,,
,H /

Ll

EQ.

[

#m

J |

I
AL

N

15

:

504
TYP

r

1/74-20 RIVNUT
AT EACH WHE
CARRIAGE

|

SLIDING PANELS CLIPPED
TOGETHER IN LOCKED POSITION

WHEEL CARRIAGE, TYP.

AT SLIDING PANEL LOCKING EDGE,
PROVIDE 1/4-20 BOLT AND NUT IN FRONT
OF WHEEL CARRIAGE. BOLT SHALL GO
THROUGH ANGLE AND TRACK TO HOLD
PANELS STATIONARY IN CLOSED POSITION.

WHEEL CARRIAGE STOPS FOR SLIDING PANELS

ZZ SCALE: N.T.S

M \.% %/@ 2xLx0 175
[SsoRnl M ]
| ALUMINMUM
‘. 1 4 . & | ANGLE
pA R WL Uy
v .
WHEEL
) _ CARRIAGE
1/4"-20 MACHINE ASSEMBLY AT
SCREW W/ NUTAT 3" FROM EACH
2700, TYP END AND 10.25 *
0C, TYP
_———ALTERNATE LEG
DIRECTION

SLIDING PANEL BOTTOM TRACK
SCALE N.T.S

1"x1"x0.062" MIN.
ALUMINUM ANGLE,
FASTENED TO
PANEL WITH 3/16"
5052 ALUMINUM
POP RIVETS @ 24"
0.C. MAX

WITH ANGLES

PLATE, FASTENED TO PANEL

1"x0.062" MIN. ALUMINUM |*’

WITH 3/16" 5052 ALUMINUM
POP RIVETS @ 24" 0.C. MAX

WITH PLATES

7 SLIDING PANEL INTERLOCK
SCALE: N.T.S

"LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HosT ANCHOR [ SLIDING PANEL VERTICAL SPAN
STRUCTURE 36" 48" 60" 72" 84" 97"
174" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 16" 0.C. | 13" 0.C. | 10"0.C. | 9"0C. | 7"0C. | 6" 0C.
CONCRETE | DISTANCE | | . i I
(3192 PSI MIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2° MIN. | 16" O.C. | 16" 0.C. | 13"0.C. | 11"0.C. | 9"0.C. | 8 0C.
EDGE DISTANCE
CONGCRETE | /4" MILLENIUM MILLFAST W/ 1-3/4"
(3500 PSI MIN,) | MIN. EMBEDMENT AND 2-1/2" MIN. | 16"OC. | 13'0.C. | 10"0C. | 9"0C. | 7'0C. | 6'0C.
' EDGE DISTANCE
1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2MIN. | 7"0.C. | 5"0.C. | 4" 0cC.
EDGE DISTANCE
174" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN, EDGE | 6"O.C. | 4'0cC. | 4"0cC. | 3"0C. | 3"0OC.
DISTANCE
HOLLOW | 1/4" DEWALT ULTRACON W/ 1-1/4"
CONCRETE | MIN. EMBEDMENT AND 2-1/2°MIN. | 6"O.C. | 5"0C. | 4'0C. | 3'0C. | 3"0C.
BLOCK EDGE DISTANCE
5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE | 10"0.C. | 7°0.C. | 6"0.C. | 5"0C. | 4"0C. | 4'0cC.
DISTANCE.
5/16" DEWALT ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8" MIN. | 10" O.C. | 8"0.C. | 6'O.C.
EDGE DISTANCE
1/4" LAG SCREW W/ 1-1/2" MIN,
EMBEDMENT AND 3/4" MIN. EDGE | 16"O.C. | 14" 0.C. | 11"0.C. | 10"0C. | 8'0C. | 7"OC.
WOOD (G=0.42 DISTANCE
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN. | 13"0.C. | 10"0.C. | 8'0.C. | 7"0C. | 6"0C. | 5" 0C.
EDGE DISTANCE.
NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT" CONDITION. ANCHORS SHALL BE
LOCATED 2" MAX FROM TRACK ENDS.
*MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

FRANK BENNARDO, PE
PE# 0046549 CA#9885

08112 ,ﬁz'%‘ss

’ON

At

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442

(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM

ENGINEERINGEXPRESS.COM

ry

INDUSTRIE

Wholesale Aluminum and Building Products

ount

Town "

A Division of ABC Supply Co., Inc.

FL16219.2

400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

DATE
[12/20112
| 4116115
9/28/16
' 8/07/17

FLB
TSB

[

KL

'DRWN|CHKD |
'RWN

RWN_|FLB

EV - ADD 4" BLADE

REMARKS
INIT ISSUE
2014 FBC
017 FBC
2020 FBC

4

N

CCB_[RWN | 7/01/20

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDQ, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

BENNARDO, P E. ™* ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

COPYRIGHT FRANK L. BENNARD

P.E.

20- 26193

SCALE:

PAGE DESCRIPTION:



http://ecalc.io/26193

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

PLAN VIEW 1

R SCALE: 1-1/2"

= PLAN VIEW 4
SCALE: 1-1/27

PLAN VIEW 7

@

SCALE

1-1/2"

T

- 10"

- CLOSED PQSITION

) 5?13?5 fig—[ F@Jzﬂbﬁﬁ‘
|
sl passlEE o U

s

Ok

PLAN VIEW 2
SCALFE

PLAN VIEW5

SCAL

CLOSED PQOSITION
__{fi o

1-1/2"

-1/

- 10"

X

A\

2p

i DLM 0.090"x1"x3-1/2"
L AnEE

/ (2] 17470 RIV-NUTS
(TOP&BO TOM OF PANELS)

CLOSED POSITION X\K\ \\ CLOSED POSITION

) PLAN VIEW 3 |
CSCALE T-1/27 = 1707

Zp o PLATE 0.090"x1"x3-1/2" WITH {2)
U } i ,\T\\xg/wm @ RIV-NUTS (TCP & BOTTOM
IS N S OF PANELS)

PLATE 0.090"x1"x3-1/2" WITH (2]
1/4"¢ RIV-NUTS (TOP & BOTTOM
OF PANELS)

CLOSED POSITION S | L ﬁ
E’m B )( ‘T E/ i L % ﬂjaf o (,>$ | m;

TR |
CLOSED PQSITION

Lostfen |52

PLAN VIEW 8

SCALE: 1-1/2" = 1-0"

g

PLAN VIEW 6
SCALE 1-1/2"

FRANK BENNARDO, PE
PE# 0046549 CA#9885

LU TP
o BENy Y,

X
o8n ?.’?L‘T%%;:
i

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

N
o
L]
I
0
L |
i
[T
) =3 4
(14 2
23038
D—o<m
P52 Om
:D_gz o m
a8 & m
=i 27
QEE‘JS ZUI
o O 3
& =<«
[a]
‘ E |_m
Q-5 8%
= =0
=5 &3
2 383
o Y.
© s
% 3
@
EQ e
=
;

DRWN|CHKD | DATE
KL |FLB |12/20112
RWN [TSB | 4/16/15
RWN [FLB  9/28/16
'RWN [FLB | 807/17
'CCB [RWN | 7/01/20

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

EV - ADD 4" BLADE

017 FBC

REMARKS

‘ ]
w
f=]
S

XN

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE: - | -

PAGE DESCRIPTION:

loF

7

7



http://ecalc.io/26193

	_DWG2_Page_1
	_DWG2_Page_2
	_DWG2_Page_3
	_DWG2_Page_4
	_DWG2_Page_5
	_DWG2_Page_6
	_DWG2_Page_7

		2020-08-12T21:28:01-0400
	Frank Bennardo




